[ Efficiency vs vertpos |
~ 0.8

] S B S A—
0.6

0.5

efficiency vs ver

0.4
0.3F

0.2

0.0 oy igriemrmremees Feeee Sy
i ++++ ;*.,,.4,,&"%& 5

Ratio
N
T
el

1072 10 1 10 0?
TP vertr (cn%)

—=— DQM_original_stepZ_libar-phasel-newgeom
M_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQ
Efficiend —— D8M_pixelCPETempIateCut hiSquare5_step2_ttbar-phasel-newgeom
—+— D

M_pixelCPETemplateCutChiSquare5Test_step2_ttbar-phasel-newgeom
N 1.2
—

T S S

X S Y e | o

efficiency vs ver

YRR T 10

oab il

0.2+t

NI L it wier 0 DT TP

Ratio
S
T

o RS OO DTS NS SR

o : : :
-30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.8
g
. 0.7
£
(7]
2 06
>
g 05
o
(&}
£ 0.4
(]

0.3

0.2

0.1
e O
g a4

2_ . . . . . . .
20-15-10 5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


